JTa 4yacTb paﬁOTbl BblJIOXKEHA B O3HAaKOMUTEJIbHbLIX LUeJisax. Ecsnn Bbl xoTUTE rnoJsliy4nThb pa60Ty MOJIHOCTbHK, TO
npmnobpeTnTe ee BOCro/1b30BaBLUNCL (POPMOV 3aKa3a Ha CTpaHULE C roTOBOV paboToui:
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Tun paboTtbl: KoHTpobHasa paboTa

MpepmMeT: AHMINACKUIA NPOABUHYTbIN

BapuaHT 2.

3apaHune 2.

1. Wal-Mart is the smallest retailer in Europe. - a) 10’)KHO€ yTBEpPXAEHME.

2. Europe will make it more difficult for the company to produce the same posi-tive financial results that it has had
in the US. - b) nctuHHoe ytBepxaeHue.

3. The suppliers will be persuaded easily to do business in the same way as their colleagues did in the US. - a)
JIOXKHOE yTBEpXAEHMeE.

4. Wal-Mart bought the Spanish supermarket chain EI CORTE INGLES. - a) noxxHoe yTBep>xaeHue.

5. Wal-Mart wants to make a particular market for itself in Europe. - b) nctuH-Hoe yTBep>xaeHue.

3apaHue 3.

The main idea of the text is that Wal-Mart is making its way to the European retail market, facing such problems as
higher operating costs in Europe and the search for suitable local suppliers.

We could call the text “Wal-Mart Stores Are About to Come to Europe”.

3anaHue 4.

. selection - d) range

. significant price reduction - f) discount

. operating costs - b) overhead

. positive financial results - a) profits

. companies that provide goods for retailers - e) suppliers
. particular market - c) niche

S Ul s WNBR

3Ta yacTb paboTbl BbiJIOXEHA B 03HAKOMUTE/bHbIX Uensax. Ecam Bbl xoTute noay4nTs paboTy rnosHOCThIO, TO
npmnobpeTnTe ee BOCro/1b30BaBLUNCL (POPMOV 3aKa3a Ha CTpaHuULe C roToBovi paboToui:
https://stuservis.ru/kontrolnaya-rabota/324663
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